Hw 2 Solution
dection, 14.3
1. clope o&cmgw bine of the Guwe at (1,1, 6)
Tx/cnu) . %(x‘f—wxy—g]‘f) }

z /-,Lx,;—l-(aa/ (L) = 436 =0

HZ_:@C— : 5’2 (\‘j)
92 -

- c)\\) (U) le

25. 2= COSCJ): %z‘—(-SML%—‘))-O/X('~X

= (- Sin(5F ))(*’) T Sinl X)
%"( Sin l iﬁi))o ('X)
= (-§ (J;‘%) >‘HO

J
- L’:ﬂ/xz) Sin ( 113(‘)

. U&Cx'ﬂ): z))f luz) - OX(SX\‘]—H%SU :’*\‘15) |£|2
= byt Xty - 195 2)
T 124 4g-7](25) = -6

3. w: X;Q']ZZS? Ox = U):Z} @d’ ,ZY\‘_']X}

amz/ -6)(3 z*

2@ The lovel ourve is mote intenst Gt P thon &
With gome of verticadty (where Of>0) , 0<OYp < AYq



Singp :bg\,_i—]; Hheom jfgcp) 7@(@).
wso with Same Af hov.‘z»nta//’zj (wheve a:'céo), O<LDC(><A)G61
Sinte ]Cxx %]; then U[x(’)) < ch(a) D T is mee NeYitive

£ wtax,Y) ~ T ay)
(b Fov (‘ﬁ)oed/ X0, _fx(a.‘\'p \Q‘A_% = QC( Ax f

The  Curves g more cmd moe Sparse with I./Lo/ews‘mﬂ
of Y, Which weans With Sume af (vhere of<o), of
o is getting  Larger, then  the  absohdte Valwe OJC pe
VS O@,tm\j smallen , thus ’fx(ﬂn(})l is olaorea,s‘»U With Q‘f

8. 2 - (& 3% 676\74))
=5z (6%~ éy‘*)

= 6\‘7
ng . %j(ﬁ{y'(SXZ%éxj‘f))
= —5\7—( PV 24%33)
2 -)eny*

g f 2 2
5. 330(2,9: %(77 ,(2,5) =9y (5%(7‘1%{7 )> /cz,s)
:-(%*(2X"\9‘) /(2.3)

>3 ~4
- Sy /7



bl . UCu.Z /‘g\;((ﬂSLWr\/Z)) z -*SileA:‘f’U")
fau = iu (- St ) = ~ (oScutv?)
QEW,,V = 2 av (- (oS (uty2)) = Sinludv?). 2= <- (W+/2)
= Sinlutr® (V)

T5. (5. Uxx=-55 (€% wsy))

=5 (Cosyde)
:((pg\? >‘

Wyy = ‘JJ—"LG s 9))

Bl ¥ (-my)

= e (- 605;7)
so'llxxﬂ/tjﬂ: ex(,asy + 6%—6053)
=

=2 U ¥ a I/W/ywan}(, Jclwof/‘wm



